Signature and Name of Invigilator

1. (Signature)
(Name)

2. (Signature)
(Name)

J—0608

Time : 1V hours]

PAPER—II
HISTORY

OMR Sheet No.:
(To be szed by the Candldate)

Roll No.

(In figures as per admission card)

Roll No.

{In words)

Test Booklet No.

Number of Pages in this Booklet : 24

Instructions for the Candidates

1. Write your roll number in the space provided on the top of
this page.

2. This paper consists of fifty multiple-choice type of questions.

3. Atthe commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are
requested to open the booklet and compulsorily examine it
as below :

(ij Tohave access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not
accept a booklet without sticker-seal and do not accept
an open booklet.

Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questio
missing or duplicate or not in serial order or

by a correct booklet from the invigilator
period of 5 minutes. Afterwards, neither,

given.

After this verification is over, the Tes

should be entered in the

OMR Sheet Number sho

Booklet.

4. Fach item has four alternativ
(C) and (D). You have to dar]

(i}

booklet, except for the space allotted for the relevant

ies, which may disclose your identity, you will render
yourself liable to disqualification.

9. You have to return the test question booklet to the
invigilators at the end of the examination compulsorily
and must not carry it with you outside the Examination
Heall.

10. Use only Blue/Black Ball point pen.

11. Use of any calculator or log table etc., is prohibited.

12. There is NO negative marking.

ﬁiﬂﬁﬂglmwﬁrw@mmw&ﬁwaﬁmﬁwﬁ
ot ferelt oft weR T Ffequt gRaehT @ieT 7 T qem

T T I TRt Seh T W O Hel wg=-faeht

et | 3Heh Ty anuent uter fire fodr i | sweh s =

AT STUeh! Y9-YfTehT aTuw ot STERTt ST 7 & Siueht

rfaftes woe feam wmemm |

TG W9 % 1% FE-JH H BT A OMR Tk T

3ifehd S 3R OMR T i HH HE&AT 56 Te-gfsh ™

sifpa g

4. Yo U9 % T =R ST faehed (A), (B), (C) 9o (D) A T &1
IR HET ST h ST 1 U T AT et T & ST T
e |

Serewur : CAD e O
C) T IR

5. Tl o ST chael U9H U 1 o 3TaY fad T ST- vtk W SR
FA F | A 31 IR T W e T el 3 sverran ferelt o
T W I fasifend i ©, A SHeR! Fedish T8l e |

6. T e T fdell &1 eAgEeh 0E |

. &l M (Rough Worl) 39 Ik & 21f<m g8 W |

8. afc 319 IT-YReh T 791 T 1 T i oft Frrem e emroent
Tea™ B Uk, TRt off oI W S = Sifehd Rd € ot wlien
e e =fea o g3 <

9. TR TS THE B R IW-YRaen i TeIed il e
STTTEh § 3R Tlen Ty o SIg 310 WY Te I | ol 7
RS |

10. Feret et / ShTel SITet ETSe U Rl & SEHTet R |

11. et off W hT HITUTER ( heTepoie ) AT @I oIt 3Tfe At
wEratta

12. T ST o T 3iek &t ahTe R |

(iii)

J—0608 1

P.T.O.




HISTORY
PAPER —1II

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

Indian nationalism emanated from ‘traditional patriotism’, a socially 1V
sentiment of attachment to land, language and cult, that developed in the sub t
long before the process of Westernisation had begun. In India of the eighte
early nineteenth centuries, such sentiments were emerging on a regjgfidNea%y as
homeland was being defined by various terms like desh, vatan or nadu, w % ntities
were gradually taking shape with the development of regional lan s Muftligions
affiliations. But although regionally centred at Bengal, Maharashira g wacl or Mysore,
their isolation broke down through various means of communica the political

legitimacy of the Mughal empire was recognised througi%mcbstan, which was

thought to be the abode of both Hindus and Muslims; a I@iral barriers melted
down through commercialisation and regular pilgri . East India company
established its hegemony, this traditional patriotism"%ked itself through various
indigenous critiques of foreign rule deviating fr e ished ethical traditions of
good government and through irate reactio ian missionary propaganda.
Finally, it burst forth through numerous acig®f re ce, participated by both princes
and the commoners, culminating in the | 1857. After the revolt, a modern sector
of politics gradually evolved in [ndia r3®id spread of education, development

of communication systems, such as, jwavs and telegraph, and the emergence of a
new public space created by th

1.  The ‘nationalism’ in pre-c la meant :
(A) Patriotism
(B) Linguistic aff
(C) Cultural con: of homeland
(D) Social iv1sm

most to the dissolution of cultural barriers ?
(A ialization (B) Creation of mughal empire
() image (D) Communication networks

e East India Company’s rule resulted in :
(A) Evangelicalism (B) Good Government
(C) New Ethical Tradition (D) Consolidation of patriotic sentiments

4.  The revolt of 1857 was :
(A) an aristocratic revolt (B) a revolt of the common people
(C) a reactionary upsurge (D) the culmination of the early resistance

J—0608 2
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A : 9 YIS | U= (50) 95-fashedia UeH €1 U UeH o g (2) 31k 1 |ty o I
I

Y=o it Uishal o Pe B § 9 Teel WRATT USIAd1 h1 3gHel qFIfeh
B3 ST Tk WSS &9 9 YfH, I, TS | e i Hisha AT 511 foehfdd
3TONE! 3T YRty el SIamsal & WRd | & STER TR U 9o
Fiifer <9 1 fafve wedl S 397, Fa7 O 7rg | uRefua foman s @1 e St
HTTHe T2 o T & MY -4 T T8aH o9 o 718 off |

b

1 T H 97 &5 9 9 hied ot forg e & fafvs aredt & sifd wm‘gam
e Y i qeHfae dgal ol 99 fegwm, s fh gl HEICIRECIK]
T SITa o, | Ot g off, oI Sihfae ererly, of Iredi & S
0T B T S 2 SfSAT RIS Y& wfa Y, FIA
TTHR o T Aiae el ¥ ged gy faest 1%n° <9 SreArEE iR gEE
el T=R & fovg $s gfdihansii & SR gehe : g folie o eel el gRT
STREAT T & |1 Yehe goTl forad Tsipari Sl 3 9 foren iR @18 1857 &

forEe B TRIehTs3T 6l Ugd T 1| fage &
S Y&d 9 T iR siafere Sy
YR & 1 efiT- ¢ Sguel ge |

1. T%-SiafafeEs ua | U :
(A) TEeugH (B) w1 &t Fehean
(©) T (D) QTSR e

’aﬁ@aﬁ%&wwﬁwﬁmm?

T 3187 & 9 Y9R, TR YOel & faend
T HESIHe & & SRF TSI &

(B) T WA Hl Yo
(D) HAR YoTred!
AT o YT <l TROTH g3
(B) FUA WHR
o i T (D)  TIGRTIH hi IS BT IR

4. 1857 1 fagie o :
(A) ST &t =1 fagie (B) 3T @il 1 fagie
(C) fdfshamemel o=t (D) RfR forig i quekTST
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5.  What was the most important outcome of the direct administration ?
(A) growth of education
(B) development of railways and telegraph
(C) evolution of a modern sector of politics
(D) growth of colonial institutions

6.  Which among the following is associated with Palaeolithic :

(A) Chopper-Chopping tools (B) Geometric tools

(C) Pecking tools (D) Polished tools
7. Which among the following represents Mesolithic :

(A) Gathering (B) Hunting

(C) Food production (D) Domestication of an@

8. Which among the following stands for Neolithic :
(A) Nomadism (B) Transhuma@ *

(C) Sedentism (D) Urbanis
9.  Which of the following is associated with the gization ?

(A) Chauntra (B) Langhnaj ( garh (D) Ahar

10. Given below are two statements one
Reason (R) :
Assertion (A) : The pace of hu

ssertion (A} and the other labelled

pment was very slow during the stone

age.

Reason (R) : Primarily b ns were dependent on hit and trial method
of learni

Read the above staterm serect the correct answer from the codes below :

Codes :

(A) (A)is correct i€ wrong

(B) Both (A} and correct

(©)

ng, Hlllt (R) is correct

) are incorrect

=9

e two staterments one labelled Assertion (A) and the other labelled

: The first urbanization in India decayed by the end of 3rd millennium

BC.
son (R) : This was caused primarily by the changes in climatic conditions.
Read the above statements and select the correct code below :

Codes :

(A) (A) is correct, but {(R) is wrong
B)  (A) is incorrect, but (R} is true
) Both (A) and (R) are correct
D) Both (A) and (R) are wrong



10.

11.

Y& YRIE oh1 Haeh Hequl IRUmT R o1 ?
(A) fuan =t afg (B) Yomd 3R ol o faenrd
(C) oTYfTeh &3 &t qorid &1 3qwa (D) ATafaferes deenedi &1 faswm

Frefafaa § SF quumEm 71 § gwefed €2
(A) TS ISR / Tem-Tew™ SR
(B) ST ISR

(C) &0 3SR

(D) vEIfSid SfsR

frefafed § ®F 7 T&R g 1 gfaeiud o 22 0
(A) HIEw (B) 3@ O
(C) @rE e ol SeTed (D) U e

L 2
frfafaa § 4 1 79 TR g0 A TrEisd 872 ®
(A) TR (B) &Ryl () %@7

FrrAferfiea H & i ggw Tl ¥ Frafgd €72 %
(A) = (B) WM Q) 2 (D) TS

= 3 e fed T E, TH R HA ( IO (R) T A9 feam 7o %
HYT (A) : IO T H TS famg et off |

HRUT(R) : WofHa dR W) Fii o 3TreTa 3iR deror fafy w ek s 9
ST FHeHl 1 ufed iR g i< T 9§ 98 ST & T B

&<

(A) (AT, |

®) (A) IR (R) |

© (A) , el 2

(D) (A) e 2

T3 €, TH HI FYA (A) SR T FI HRO (R) H T 40 T
IRA H T WUl o e Heelssl SH1 J6l o T H A gel |
) : I AT 9 § Siorery et feerfadi § aied i it asie 9 gel ot |
el 1 uled SR A {3 Wel He 1 = wR

(A)  (A) T & T, T (R) T B
(B) (A) 7T ¥, T (R) §A T |
Q) (A) 3R (R) ST =& 7
(D) (A) 3R (R) i TTera © |
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12.  Given below are two statements one labelled Assertion (A) and the other labelled
Reason (R) :

Assertion (A) : The second urbanization occurred in the Gangetic plains during the
second half of the first millennium BC.

Reason  (R): This was effected by the favorable climatic conditions.

Read the above statements and select the correct answer from the codes below :
Codes :

(A) Both (A) and (R) are incorrect

(B) Both (A) and (R) are true

(C) (A} is correct, but (R) is false
(D) (A} is untrue, but (R) is true

13. Arrange the following into sequential order and select the corre@m‘ from the
following codes :

(i) Janapada (ii) Maha]anap *
(i) Jana (iv) Empu‘

Codes :

(A) (i), (i), (@), (iv)

®) i), Gv), @), 6
© @), G, O G ‘&
O G, G @) @)

14. Arrange the following into se tMgorder and select the correct answer from the
following codes :

(i)  Junagarh inscription (i) Allahabad pillar inscription
(iii) Aihole inscriptio (iv) Pathari Stamb inscription

15. e following into sequential order and select the correct answer from the

Ramayana (ii) Samved

Mahabharata (iv) Ashtadhyayi
Codes :
(A) @, Gv), @), (@)
(B) (i), (i), B (W)
(© ), @ @), )
D) (iv), (D), (@, ()



12.

13.

14.

= 1 e fed T E, T A FHF (A) SR T H HRO (R) H AW oz men g

HUA (A) : Tolta TRt Tae Teamea! 5.9, o SHY SAUH o SRM T o Aol § ge |
HRUT(R) : I8 3TIcl siarany Teurfaall g1 gwfod gamm |

ST Al I Ufed SR e 53 e Hondl | 9 W2 ST B =TI R

Fe:
(A)  (A) R (R) I T T
(B) (A) 3R (R) I ¥ T

C) (A)F& g, W (R) T

(D) (A) 39 §, W (R) I T 0
W@ﬁﬁmﬁwﬁﬁﬁ?ﬁﬁﬁ@ﬂﬁﬁ@@wwg :

(i I (i) HRSIQ L 4

(i) = (iv) TR

. O

(A) (), @), (1), @)

®B) (i), @v), G). @)

© (), @), (1) (i)

O G, G @ @)

——

frafafed = eradt o0 § W@ Hohdl H ¥ Tl IR H1 T B
() e sferE (i) TREE AT

(iii) TR AfveE (iv) Tl W e

-

(&) (iv), (D), (iglii

B) (i), (i (i)

(©)
(D)

1 7T A H WG AR A A e Hohal | T T ST I =947
(i) TRd

)
@» TRIVRA (iv) oTeeerit
I

(A) (@), (), (i), (i)
(B) @), Gi), (@), )
(© @), @), @), @)
(D) (), i), (), (i)
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16. Organise the following into chronological order and select the correct answer from the
following codes :

(i) Fa Hsian (ii) Megathnese
(iii) Huien Tsang (iv) Alberuni
Codes :

(A) @), (), (i), @v)
(B) (@), @), (v), )
(©  Gv), (), (i), ()

M) @), Gv), G, (i) 0

17. Match List-I with List-IT and select the correct answer from the c@ow :
List-T List-1T

(a) Twin Mound System i) Rig Veda Q *
(b) Vidath (i) Harap Vi T
(c) Doctrine of Karma (i) Ar @

(d) Saptang Theory (iv m

) )
Codes : \
@ @B (© (@)

(A) @ @ v (i)

®) Gv) O @ ()
© i) @ @
®) @) Gi) () @
18. Match Lisi-I with @nd select the correct answer from the codes below :

List-1 List-11
(a) Dha ijay (i) Samundragupta
(b) yadan (i) Caravan traders
c) king (iii) Harsh Vardhan
rthavaha (iv) Ashoka
des

(@) (B (o) (d)

(A) () Gv) @) (@)
B (v) & () (i)
(© Gv) @ @) (i)
D)y () (v) @) (i)



16. TfafEd S FIMIER %A § W IR 99 ¥ Fe Hhal H§ § Tl ST 1 =97 &l

M
(i)

e

(&)
(B)
©
(D)

TR
T T

(i), @
(i), (i), (iv),
(), (i), (ii),
(), (), (i)

(i), (i)

(i)
(i)

(i)

(i) TS
(iv) STeEAl

17. -1 &1 G-I % @ foam w8 iR 9= 3 e gl # ¥ 98 s

G

(A)
(B)
©
(D)
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gei-1
Seai Srer gomedt
o

%4 =1 g
ESLIR MRS EAAES]

(@) () (0)
@ O
) @ G
i) (v) (i)
(v) (i) (i)

(a) () (c)
@) @) 0
) O G
™ 6 G
O @ @

(d)

(i)
(i)

(i)

(d)
(i)
(i)
(i)
(i)

ge-11
() e
(i) TESHAH
(iii)
(iv)

\!

®0

Y IR A A e Hohdl o 9 TE W A =T B

gE-11
() T2
(i) AT AR
(iii) TUEEA
(iv) ST
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19.

20.

21.

22.

23.

24.

25.

Match List-I with List-IT and select the correct answer from the codes below :

List-1 List-11
(a) Varnashrama (i) Buddhism
) Tirthankara (ii) Brahmanism
{c) Shaivism (iif) Jainism
(d) Vajrayana (iv) Vedic
Codes :
(w () (0 (@
(A) Gv) (i) @) 6)
® @ O @ @
© i) @) [ 0
O) @) G G 6 0
Chahlghani was dominant during the reign of :
(A) Qutbuddin Aibak (B) Iltutmish
(C) Balban (D)  Alauddin Khalj

When did Babur adopt the title of Ghazi ?

(A) 1525 (B) 1526
(©) 1527 (D) 15

The Rishi Silsilah refers to an order of sufi sagnt? j
(A) Kashmir j
a

(C) Hyderabad

Who was the writer of Safinat-ul

(A) Mian Mir Mulla Shah Badakhshi

(C) Nizam-ud-din Ahmad (D) Dara Shikoh

Name the two Delhi S 1storians whose works bear the same title “Tarikh-i
Firuzshahi” :

(A) Zia-ud-din B d¥Amir Khusrau

(B) Shams Siraj Minhaj Siraj

(C) Hasan Ngzamiand Amir Khusrau

(D) Zia- Ba®ni and Shams Siraj Afif

Given¥elo e two staterments one labelled as Assertion (A) and the other labelled as
Re )¢

ion (A): Zat denotes the number of troopers held by the mansabdars

ason (R): Sawar denotes the personal status and standing in the Mughal

administrative hierarchy.
In the context of the above two statements, which one of the following is correct.
Codes :
(A) (A) is correct, but (R} is wrong
(B) Both (A) and (R) are correct
(©) (A) is wrong, but (R) is correct
(D) Both (A} and (R) are wrong

J—0608 10



19.

20.

21.

22.

23.

24.

25.

A1 1 GA-11 < T e i 3R = fo e Sohdl § 9 W81 ST =T

geit-1 -1
(a) FUism () gy
(b) iR (i) TRIUER
(c) T e (iii) S e
(d) =vmE (iv) dfcew o
&<

(a () (o (@
(A) () () @) ()
B) @ @ ({v) (i
Q) () (v) () ()
O ) 6@ @ 0 O
e =1 o I Tt o SR T o

) FITA T (B Esvekity ¢

(C) v
& A Tt b1 FEdre el S92
(A) 1525 (B) 1526 (D) 1528
=1 o 37t | 1 A H fwﬁqw :
(A) wHTHR (B) (D) 3
THHA-SA- ST T &R
(A) T ¥R (B) ool W8 SEEt
Q) FreTgEH steng (D) <RIRRE
oot Goaa & o | 1 AT SIa1gY STeh! Hid 1 3 § : ‘TRE-T-[Homel
(A) o3y SR GEl  (B) v RIS oTwiw iR i faust
(C) T&A aﬂ?’mﬂi@qﬁ (D) Ta-Sg-dF o 3R s favs TR

T €, Th Dl HAT (A) IR FE I HRT (R) T AW fea &
S T R ot fop TaEeer & U fehan A ©
)+ AR et Feme 3ifeshd § safgama fagd oIk ug i s g
weAl & Hed #, fr=fafad § 4 - w&t 82

(A)  (A) F& €, W (R) TToTd T
(B) (A) 3R (R) I & 7
(C)  (A) 7o &, T (R) Tt €
(D) (A) 3R (R) I T € |

J—0608 11 P.T.O.



26.

27.

28.

29.

30.

Given below are two staternents one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : Invading of Balkh and Badakhshan and three closely spaced sieges of
Qandahar by Shahjahan resulted in nothing except the shedding of
blood, the killing of thirty to forty thousand of people, and the
expenditure of thirty five million rupees.

Reason  (R): It did not have any effect on Mughal resources.

In the context of the above two statements, which one of the following is correct

Codes :

(A) (A) is correct, but (R) is wrong

(B) Both (A) and (R) are correct

(C) (A) is wrong, but (R) is correct 0

(D) Both (A) and (R) are wrong

Given below are two statements one labelled as Assertion (A) and the'W®er labelled as

Reason (R} : L 4

Assertion (A) : Alauddin khalji was involved in major the taxation system
and collection of grain. He also undgfftoo measures to ensure

low prices.

Reason  (R): In the interests of expanding % d of maintaining them on
low pay.

In the context of the above two statements, \ghich' of the following is correct ?

Codes :

(A) (A) is correct, but (R) is wron

(B) Both (A) and (R) are correct

(©) (A) is wrong, but (R} is t

(D) Both (A) and (R) are

Which of the followigeis c logically correct ?
(A) Sangama, Sa lva, Aravidu

A
B) Saluva, TuluWg@Agidu, Sangama
)
D)

Tuluvaf@ravidu, Sangama, Saluva
anMma, Saluva, Tuluva

(
(
(

llowing in correct sequence :

Siraj Afif, Abbas Khan Sarwani, Hasan Nizami, Minhaj Siraj
asan Nizami, Minhaj Siraj, Shams Siraj Afif, Abbas Khan Sarwani
bbas Khan Sarwani, Hasan Nizami, Shams Siraj Afif, Minhaj Siraj
Minhaj Siraj, Abbas Khan Sarwani, Hasan Nizami, Shams Siraj Afif

Arrange the following in correct sequence :

(A) Battle of Ghagra, Battle of Kalinjar, Second Battle of Panipat, Battle of Talikota
(B) Second Battle of Panipat, Battle of Kalinjar, Battle of Talikota, Battle of Ghagra
(C) Battle of Kalinjar, Battle of Ghagra, Second Battle of Panipat, Battle of Talikota
(D) Battle of Talikota, Battle of Kalinjar, Second Battle of Panipat, Battle of Ghagra

J—0608 12



26.

27.

28.

29.

= 1 e fed T €, T A e (A) SR T H HROT (R) A AW fem

HUT (A) : TG IR TSI W AR AR el §R H4R F Th & 9IS T o4 e
1 IR GH T, T § =™ TR @Rl st 9 iR Hedte fafeem 03 & ==
% TS TS TRl Al

IUT(R) : SHHT T FHEA W ohlg 9 Tl TS |

ST < weEl & Hed #, fefafed § 9 wF-w 9@ ©72

&<

(A) (A) F& g, T (R) Te B

(B) (A) 3R (R) T T T}
(C) (A) 7o §, T (R) T €

(D) (A) 3R (R) I 7T € | O

= 1 e fed T E, T A HUF (A) SR T H FR (R) o € :
AT (A) : STASEH Wersl H Juledt 3R ST ﬁ@aﬁﬁﬁeﬁw 35
|

FH HiFd A= w0 & fod 39 3um
HIUT(R) : 3T IS 1 faR A iR 3% &1 T |
IR T FHAl & e §, Frafafeaad § 9 wm-
o q
(A) (A) T8 g, T (R) e §
(B) (A) 3R (R) I W B
(©) (A) 7T &, TG (R) T §
(D) (A) 3R (R) i TTerd €

frefafaa § e wren q w8
(A) HTH, F (B) W, I, STferg, W
(C)  dgan, e, (D) eWfag, |, Fefdl, T

Fratt, Theerst Faust, s faRST ST, ofeemd @ ARar!
) oS T, 3Teamd WM ARarH!, g9 e, e fawrst s

Frefafed =6 adt o gn § W -

(A) HTERI 1 g, ShifeiSi I g, THIYd I Tt Ig, dreiishler 1 45
(B) Uraa =1 fgdfta g, fcsr 1 gg, dlciiehlel il 5, Sl IS
(C) ISR 1 G, TR H1 F§, THIUA h1 Tgdla Ig, dreliniel &1 J§
(D) TR 1 G, HIcSR 61 G, THITd o1 5 g, == &l 3
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31. Match List-I with List-II and select the correct answer from the codes given below :

List-I List-IT
(a) Nicolo De Conti (i)  Russia
(b) Athanasius (if) [taly
(c) Abdur Razzaq (iii) Portugal
(d) Domingo Paes (iv) Iran
Codes :

(@) (b (0) (d)

(A 0 ) (@) ()

B) () Gv) (1) (1) 0
(© G @ Gv) (i)

D)

)
D) (iv) (i) (i) (i) O
32. Match List-I with List-II and select the correct answer fr e oges given below :
List-I
(a) Mutamid Khan (i)
(b) Lahori (ii)
(c) Badaoni (iii
(d) Khafi Khan untlkhab-ul-Lubab
Codes :

(@) () () (d)

(A) @) @) @) (v)

B) () (@) (i) (1) @
© @ @ @

(D) (@) (v) (i

33. j ith List=I and select the correct answer from the codes given below :
List-IT
Islam mosque (iy  Shershah Suri
i Darwaza (ii) Qutbuddin Aibek
mosque (iif) Alauddin Khalji
) ohtasgarh Fort (iv) Ibrahim Shah Sharqi
es :

(@) B (0 (d)
(A) () @) Gv) ()
B @ @) @) (@)
(© vy @) @G @
(D) @) @) @O @)
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31. -1 1 G-I & 919 fiam & o) = o3 e Sohdl § 9 T8l ST 1 =

-1 -1
(a) Trem g =ifa () w9
(b) TS (i) et
(c) 3TogL o (iii) g
(d) ST TIw (iv) T
Fe:

(@) () (0 (@

@) 0 @ ) )
® @) @) @ 6 0
© @ O @ @@
® @) G @ 6

32. -1 1 G-I % A e & eI e 53 e Sohdl 53

© @ @ (@

M) @) () (i®

W e Y TR A e e Tonal o | HE I A 9T Y

(@) () (0 (@
(A) @ @) () ()
(B) Gv) @) (@) () \

AW AfesT () e g
(i) PIIET Tk
(iii)  STATSEA GeAsi

)
$ JgareTe femett (iv) ollfeH YTewehi
C i

(@) () (o (@
(A) () () (iv) (i)
B) O @) @) (v)
(©  Gv) @) @) ()
(D) (@) (v) @ (i)
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34.

35.

36.

37.

38.

Comwallis code of 1793 separated :

(A) Civil from judicial administration

(B) Revenue collection from administration of civil justice
(C) The Bengal from central administration

(D) The civil from military administration

The Ulgulan (ULGULAN) was a movement of the :
(A) Agarias (B) Juangs
(C) Hos (D) Mundas

Identify the person not favouring the idea of land tax being per ently,

(A) Alexander Dow (B) Henri Patullo
(C) Philip Francis (D) Warren Hastj *
Given below are two statements one labelled as Asserffion ( d the other labelled as

Reason (R} :

Assertion (A) : The Roytwari system did not %viﬂage elites as intermediaries
between the government santry.

Reason  (R): The village power s

cWgas hardly altered and even more
strengthened by the new gglkte

In the context of the above two st e which one of the following is correct ?
Codes :

(A) (A) is true and (R} is al%

(BY (A) is false and (ggidtrue

(C) Both (A) and e ifue

(D) Both (A) and! false

Given bel tw®statemnents one labelled as Assertion (A) and the other labelled as
Reaso

: The goal of the extremists was swaraj, which different leaders
interpreted differently

(R) : The leaders coming from different linguistic zones understood it
differently.

he context of the above statements, which one of the following is correct.
Codes :

(A) Both (A) and (R) are true

B) (A)is true and (R) are false

(A) is false and (R) is true

Both (A) and (R) are false
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34. 1793 o SHATAY o a0 7 g o ez o ¢
(A) fafae =61 =nfaes game= | (B) TSI Wehaehtul ! ffael = gomes |
(C) &I Sl Fsid JRIeA 9 (D) Tafaa =1 faferd geme 9

35. 3T T 1 ST<Ie o ?
(A) ST (B) e €) =™ (D) He

36. Tohd Sl o oM o1 T w9 v e o vy T forn o2 0

(A) TERE (B) & ugeh
() fwfera wifew (D) =RA FETg
L 4
37. i A ¥ T € T H HAT (A) SR TH I FR0 TG
E%(A):Wﬁmﬁ,maﬁwmwﬁ%aﬁ%%wﬁmmmﬁﬁ
T & R |

SHIUT(R) : TTHTOT F1 <1 i Givehet 9 & a@mmm@éwm
ST 2 Fo % Heol H, Frafafea § X%?

e

(A (A) T T, W (R) I,

(B) (A) HA T R (R) @"

(©  (A) 3R (R) T %‘*

(D) (A} SR (R) !

38. B 51 e (A) 3R TR N BRY (R) 1A e
EDER Y | o1 c1e Ty o, foreent foet wamsti = foer €0 § fe=m fham)
o= 9T Tt Sf=al 9 Adredl | 39 e 9 § 9w |
ol & ded H, frafafed § 9 sF-w wdt 72

(A) (A) R ) I TA 7
(B) (A)H A T 3R (R) 3T9A B
(A) 3T9A B, 3R (R) 94 T |
(A) 3R (R) T 18 T
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39.

40.

41.

42.

Given below are two staternents, one labelled as Assertion (A) and the other labelled
as Reason (R) :

Assertion (A) : The Morley-Minto Reforms satisfied both the contending factions of
Indian National Congress

Reason  (R): The Morley-Minto Reforms addressed all their concerns

In the context of the above two statements, which one of the following is correct.
Codes :

(A) (A)is true but (R) is false

(B) (A)is false but (R) is true

(C) Both (A) and (R) are false

(D) (A) is true but (R) does not explain (A) 0

Which of the following is chronologically correct ? ‘ !

(A) Parthana Samaj - Brahmo Samaj - Arya Samaj - Poona Sarvajan ha - Atmiya
Sabha r's

(B) Atmiya Sabha - Brahmo Samaj - Parthana Samaj - Ar j - Poona Sarvajanik
Sabha

(C) Atmiya Sabha - Parthana Samaj - Brahmo Samafg AryjSamaj - Poona Sarvajanik
Sabha

(D) Atmiya Sabha - Brahmo Samaj - Part Poona Sarvajanik Sabha -
Arya Samaj

Arrange the following in chronologffalggde
(i)  The Indian Penal Code
(ii) The code of Civil Procegff
(ii) The Criminal Procedigre
(iv) Police Act

Options :

a Prati Sarkar
opalah

Tarmralipta Jatiya Sarkar
Hool
Options
@ 6 i) G
® () (v 0 i
© v @ @) o
) i) 6 )
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39. < wed o3 A E U A HUT (A) 3R TR S FRU (R) H AW e g
HUT (A) : TR =1 Gl A Sfeem FeHa FHivw & foeh 11ei 1 e fRan
SIOT(R) : Akl =1 QR A 3ot 9a To=aedl o1 ity foan |
SR < HeFl % wed H, Frefafed § 9 a9 9@ 72
Fe:

(A) (A) 9 8, T (R) 3T9A T
(B) (A) 38 B, W (R) T |
(Q)  (A) 3R (R) THT 318 T

(D) (A) T ¥ R (R), (A) %I =N TEF ¥ 0
10. FreAfafad B 98 HerEd 3 @ Q

(A) T WS - S FHIS — 3T WS — A1 HIEST(eh HHT gl |

(B)  STTCHI |1 - SI&l FHIS — W12l §HIS - 37 §H - o

(C) ST T - W11 TS - o S - T 4|

(D) ST G - Sl FHS - WA A - A gy - 3w |
41. TrAfafEd 1 FerHhbs &9 H W@ ¢

@ e da =i

(i) e 3w fafaa TR
(iii) WWW

(1V

(A i (i) (1V +
(B) (i) (iii)

© @ 0 i

D) @

42.

@) 6 G @
® @ @ O @
@ G @ @) @
O @) O @ @
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43. Match the Lisf-A with List-B using the code :
List-A List-B
(a) The Emergence of Indian Nationalism iy Partha Chatterjee
(b) Nationalism and Colonialism in Modern India (if)  Anil seal
(c) The Nation and its Fragments (i) G. Alloysius
(d) Nationalism wihout a Nation in India (iv) Rajnarain
Chandavarkar
Codes :
(@) () (0 ()
(a) @ @) @) O
B @ @ @) )
© @ @) @ () O
D) @) @) @) @
*
44. Match List-A with List-B using codes : ®
List-A Lgt-B
(a) Bengalee 11 do Ghosh
() Bande Mataram im Chandra Chatterjee

Amrita Bazar Patrika

(©)

(d) Bangabasi
Codes :

(a) (b)
(A) () (i)
(B) (i) (i)
(© (i) ()
(D) (i) (i)

45.

(ii).
(i)
(iv).

By (i) @ @) )
QG @ (v) ()
(D) (v) () () (D)

J—0608
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. Motilal Ghosh

List-B
Polygamy
Cultivator
Association

Inheritance



43, G-I 1 GEA-11 F w1 Foem o 3R = 3 e Fehdl o1 ST Ld U Hel S’ 1 =

Eadl
-1 ge-11
(a) < TSI T shead Aemfasy () et Jesit
(b) eEfeeH T HIAiafcrsH g9 Afed st (i) A Ha
() < T e 38 HHTH (iii) . TeEfEEE
(d) “eHfersA foeee T AeH 39 sfrean (iv) TSERE
F

(@) ) (0 (@
@ @) @) @) 0
® @ O )
© () (v O G
O i) (v @

L 4
44. A1 1 GA-11 & T fram X iR F= i@ g2 dahdl BU Rl ST 1 =
L
gei-1
(a) Sl
(b) ¢ HEH
(c)  3THd ISR Gfsfent
(d) STaTE
&<
(@) ) (0 (@
(A) ) (W) (@) (D)
B) (@) @) ()
(©) (i) (iv) (i
(D) (i) () (i
45. G-I H ﬂ?ﬂﬁwaﬁaﬂxﬁ%ﬁﬁ?ﬁﬁﬁﬁﬂéwwwaﬁ:
ger-1
(a (i) dgfaeme

(i) W
(i) HTSH
Taarera (iv) STURHR
e

(@) () (0 (@
(A) (@) (i) @v) (i)
(B) (@) @ @) (v)
© @) @ ) (i)
M) Gv) @) @) ()
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46. During second world war, who said, “I have not become the King’s First Minister to
preside over the liquidation of the British Empire”.

(A) Lord Beaconsfield (B) John Lloyd

(C) Winston Churchill (D) Benjamin Disraeli

47. Where was the first socialist group formed ?
(A) Great Britain (B) Russia 0
(C) Germany (D) France O
*
48. What was most obvious expression of imperialism ? @

(A) Superior technology Coloni

(C©) Communication network (%‘Premacy

49. Research in observation process has

(A) continuous and persiste B) occasional and general
(C) hurriedly carried profgosi (D) mnone of the above
50. Who warns a ains’@ﬂg ‘behaviour” as ‘rationality” ?

driftn (B) Vincent J. Tarascio

ochwald (D) Stark Werner

-00o0-
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46.

47.

48.

49,

50.

Tt fova g5 & SR for e o T T ot wem weit @ o § fo fafew @ &
U I AT FE |

(A) WIS dHHBICS (B) SiF wiEE
(C) fawa afea (D) Senfe fesiett
YT FHSTETG] 98 el o o1 ?

(A) e fe (B) =4 0
(C) ST (D) Wi O

HYRIEE S Haifes geae sifaeafad = off ? @’
(A) I3 UreEnfirent

©) HERa D) F%Qﬂ

STacIR Jishal | TY I S =1
(A) Had Ud e REHERCRS LI
(C) T <l TS 9§ qU (D) SR § | & Tl

‘W’@‘ww@ il T 3 for R T e 7
(A) e (B) forE= <1 qrafysd

L 2
() (D) W& T

-00o0-
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